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1. Answer any ten from the following questions :
' 1x10=10
TS PEIRA Rigplcan 7y ed fat ¢

(@) Who was the first economist to have
coined the term ‘macroeconomics’?

TR SIS T YA iee SRt
e fifeei 2 '

(b) What is meant by depreciation cost ?

TS 95 oA o Ie W2
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(k) Distinguish between demand-pull

isti ish betw intermediate goods 2 ; ) .
S E S CTRE SR = inflation and cost-push inflation.

and final goods.

RS AT ST PO AT e ~Alely Fef | SifRwl efelife J@FIfS i JRSTS U
| ere Ay [l 10|

90|
(d) Give one example of transfer payment. U g?é;}é;%untry ey ‘hypennﬂagon
WIS AR o1 Snigge | ST
O IAS (FAL @ TS @IS
(e) Define gross domestic product. W’ﬁﬂ arm?
o =l Terie Akl f | (m) Mention Say’s law of market.
i locit f circulation of
Ut hal SHatseT T e 3 (5’3 =9 RO Srard 11|
money °
Jui9 be 3ROl =2 (n) State one essential condition of
e e Keynesian income determination.
What is money supply - . " ,
9) g (2R ST Mo SIFIE 5O o) S 41 |
b : (o) In which case is LM curve horizontal ?
(h) How does credit creation affect money
supply ? ' & (vge LM @RI Seie 232
';Iﬁ‘(:q ;IE(M 3 (PEME Ao
Al ) CARITINSS = 2. Answer any five from the following
CoeTIN 2 ' questions : 2x5=10
(i) What is liquidity preference ? Ool QIR Repiea FlisoiT Ul a8
OIRET AW 52 (a) Distinguish between real GDP and
(i) Define ‘open market operations’as a nominal GDP. .
tool of monetary policy. oS .{3 1 AT S G ‘3?5 i
i s wife Rpieet T& e s s Bl AwS Ay Rl 40
gl :
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(b)

(¢)

(d)

Mention two types of transactions that
are included in the current account of
balance of payment.

SR o TRTe Roire Tege =l 1k
TR 2FIF B T4 |

What do price indices show ?

VS e /e e

Distinguish between net domestic
product and net national product.

T 1 B SIS @ NG A Ve Aere
Aty Wefa |

(e) Write any two functions of money.
i e o1 i

() What is speculative demand for money ?
TN TS SfeeE 2

(9) Define inflationary gap.
TErFIes g e fr |

() What is money multiplier formula ?
4l @eipy @0l 52
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3. Answer any four from the following
questions : 5x4=20

oY SRS [l bl Ty w3l 8

(a) Distinguish between balance of
payment and balance of trade with
example.

THiEER e SRl TNel o e
IeR TAere e i |

(b) Distinguish between current and capital
accounts of balance of payments.

S[fREIIE TOR GfeTe Roiol Wi Tl i
e i fefa i |
(c) How would you measure gross national

expenditure ? State the limitations of
this method.

1 TG T G 9 2191 FRA 2 G ~=feS
AT S 5 |

(d) Discuss the modern approach to money
supply. |
W @ (RS YT AIFECEl SItEs
9 |

(e) Explain the three motives for demand
for money according to Keynes.
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(/ What is liquidity trap? Explain its
significance on monetary policy.
ORET T {52 @l o 2T ¢Fg =0l 4 |

(g0 Explain the causes for the shift of the
IS and LM curves.

IS @< LM (931 T FAITRS (71 IR
[yt 14 |

(h) What is fiscal multiplier? What factors
affect fiscal multiplier ?

AGERR @6F T2 IS S6955 LoRiEo
91 ol [ /62

4. Answer any four from the following
questions : 10x4=40

O @R Rl bIfebT Oel e

(a) Explam the various basic i issues studied
in macroeconomics.

Wﬁﬂ_ﬂ@%‘ﬂwwfﬁmw
-l

(b) Discuss the process of national income
accounting in an open economy.

& SO G BT 91T 2AFAH! Sl
|
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(c)

@)

Explain the process of circular flow of
income. In what ways do international
transactions affect this flow within a
closed economy ? 7+3=10

OIS by 9IRS AfER A 91 TR
HITIC® SBEHNOT SAe-2Ie 92 T
FEME oRIRe FE=?

Critically explain the cash transaction
approach to the quantity theory of
money.

WIS AR OGS Fol [z wecs!
SAICEBATETFOIE I 1

Compare and contrast between cash
transaction and cash balance approach
to the quantity theory of money. Which
one is superior ? Give reasons. 7+3=10

TR AR ©OGT TN S Foi -

AT A U O 1 S iyl el |
AR @G (@2 IR |

Explain the various tools of monetary

policy. Which one is appropriate to the

developing countries ? Give reasons.
8+2=10
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(9) Define inflation. Explain social costs of
inflation. 3+7=10

TR e o | R R SRR

I 9|

(h) Evaluate the Keynesian model of
income determination.

(PR o1 Ffiel SifEoR T |

() Compare the classical and Keynesian
models of income determination and
point out the fundamental differences
between the two.

RIS W6 (e O W s oo
P! 91 NI WEADE WEE GTERe AR
gz |

() Derive IS and LM curves. Explain their
properties. 6+4=10
IS i LM (@4l §oie Siizae 91 | 3299 g
TR F4
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